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M. A. (ECONOMICS) (MEC)

Term-End Examination

June, 2020
' MEC-105 : INDIAN ECONOMIC POLICY

Time : 3 Hours Maximum Marks : 100

Note : Attempt questions from each Section as per

instructions given.

Section—A

Note : Attempt any two questions from this Section

in about 700 words each. 20 each

1. Distinguish between economic growth and
.economic  development, - highlighting  the
important constituents of economic development.
Also account for the important changes in the

composition of India’s GDP since 1990.
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2. Examine the rate and pattern of industrial
growth in India during last two decades of liberal
economic policy regime. Make suggestions for
accelerating industrial growth in post-planning

era.

3. What do you mean by inequality in income and
wealth distribution ? How are the inequalities
measured ? Examine the policy implications of
wide-spread inequalities in India.

4. Explain the concept of rational price policy for
agricultural produce. OQutline the policy
mechanism that balances the interests of both
producers and consumers.

Section—B

Note : Attempt any five questions from this Section

in about 400 words each. 12 each

5. Define the term Fiscal Imbalance. Discuss the
recent policy initiative taken by the government
to correct this situation in India.
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Distinguish between foreign direct investment
and foreign portfolio investment. Account for the
growing volatility in foreign portfolio investment

in India.

State the constituents of food security. Evaluate
the various measures adopted by the Govt. of
India in this regard.

Discuss the political economy as a distinct
approach to the study of economy.

Do you agree that the existing institutional
structure in India has not led to good governance
outcome ? Give reasons in support of your

answer.

“Recent structural institutional transformation is
the key to the case of doing business in India.”
Elaborate.

Distinguish between farm and non-farm services.
Point out the importance of both these for
increasing  agricultural  production and
productivity.
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12. Explain any three of the following :

(i) Transmission mechanism of monetary

policy
() NITI Aayog
(iii) Projectionmism
(iv) Social Sector

(v) Demographic Dividend
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